

NAME: PETRO ISAAC GRACE AROBODUCHO
DEPARTMENT: PETROLEUM ENGINEERING
MATRIC. NO: 191EN0091012

$$1. \int \frac{3x-1}{(x-1)(x-2)(x-3)} dx$$

Solution

$$\frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{A}{x-1} + \frac{B}{x-2} + \frac{C}{x-3}$$
$$\Rightarrow \frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{A(x-2)(x-3) + B(x-1)(x-3) + C(x-1)(x-2)}{(x-1)(x-2)(x-3)}$$
$$\Rightarrow 3x-1 = A(x-2)(x-3) + B(x-1)(x-3) + C(x-1)(x-2)$$

when $x=1$,

$$3(1)-1 = A(-1)(-2) + B(0)(-2) + C(0)(-1)$$

$$2 = 2A$$

$$\therefore A = 1$$

when $x=2$,

$$3(2)-1 = A(0)(-1) + B(1)(-1) + C(1)(0)$$

$$5 = -B$$

$$\therefore B = -5$$

when $x=3$,

$$3(3)-1 = A(1)(0) + B(2)(0) + C(2)(1)$$

$$8 = 2C$$

$$\therefore C = 4$$

Hence,

$$\int \frac{3x-1}{(x-1)(x-2)(x-3)} dx = \int \frac{1}{x-1} dx - \int \frac{5}{x-2} dx + \int \frac{4}{x-3} dx$$

$$\therefore \int \frac{3x-1}{(x-1)(x-2)(x-3)} dx = \ln|x-1| - 5\ln|x-2| + 4\ln|x-3| + C$$

$$2. \frac{x^2 + 2x + 1}{(x+2)(x^2+1)} dx$$

Solution

$$\frac{x^2 + 2x + 1}{(x+2)(x^2+1)} = \frac{A}{x+2} + \frac{Bx+C}{x^2+1}$$

$$\frac{x^2 + 2x + 1}{(x+2)(x^2+1)} = \frac{A(x^2+1) + (Bx+C)(x+2)}{(x+2)(x^2+1)}$$

$$\Rightarrow x^2 + 2x + 1 = Ax^2 + A + Bx^2 + 2Bx + Cx + 2C$$

$$x^2 + 2x + 1 = x^2(A+B) + x(2B+C) + A+2C$$

Comparing coefficients

$$A+B = 1 \quad \text{--- (i)}$$

$$2B+C = 1 \quad \text{--- (ii)}$$

$$A+2C = 1 \quad \text{--- (iii)}$$

$$\text{From (i), } A = 1-B \quad \text{--- (iv)}$$

$$\text{Put (iv) in (iii)}$$

$$1-B+2C = 1$$

$$B = 2C \quad \text{--- (v)}$$

$$\text{Put (v) in (ii)}$$

$$4C + C = 1$$

$$5C = 1$$

$$\therefore C = \frac{1}{5} \quad \text{--- (vi)}$$

$$\text{Put (vi) in (iii)}$$

$$A + \frac{2}{5} = 1$$

$$\therefore A = \frac{3}{5} \quad \text{--- (vii)}$$

$$\text{Put (vii) in (i)}$$

$$\frac{3}{5} + B = 1$$

$$\therefore B = \frac{2}{5}$$

Hence,

$$\begin{aligned} \int \frac{x^2 + 2x + 1}{(x+2)(x^2+1)} dx &= \int \frac{3}{5(x+2)} dx + \int \frac{2x}{5(x^2+1)} dx + \int \frac{1}{5(x^2+1)} dx \\ &= \frac{3}{5} \ln|x+2| + \frac{1}{5} \ln|x^2+1| + \frac{1}{5} \tan^{-1} x + C \end{aligned}$$

$$3. \int \frac{x^2 + 1}{(x-3)(x-2)^2} dx$$

Solution

$$\frac{x^2 + 1}{(x-3)(x-2)^2} = \frac{A}{x-3} + \frac{B}{x-2} + \frac{C}{(x-2)^2}$$

$$x^2 + 1 = A(x-2)^2 + B(x-3)(x-2) + C(x-3)$$

$$\Rightarrow x^2 + 1 = A(x-2)^2 + B(x-3)(x-2) + C(x-3) \quad (*)$$

when $x = 2$

$$4 + 1 = A(0)^2 + B(-1)(0) + C(-1)$$

$$5 = -C$$

$$\therefore C = -5$$

when $x = 3$

$$9 + 1 = A(1)^2 + B(0)(1) + C(0)$$

$$10 = A$$

$$\therefore A = 10$$

Put $C = -5$ and $A = 10$ into $(*)$

$$x^2 + 1 = 10(x-2)^2 + B(x-3)(x-2) + (-5)(x-3)$$

$$x^2 + 1 = 10x^2 - 40x + 40 + Bx^2 - 5Bx + 6B - 5x + 15$$

$$Bx^2 - 5Bx + 6B = -9x^2 + 45x - 54$$

$$B(x^2 - 5x + 6) = -9(x^2 - 5x + 6)$$

$$\Rightarrow B = -9$$

Hence,

$$\int \frac{x^2 + 1}{(x-3)(x-2)^2} = \int \frac{10}{x-3} - \int \frac{9}{x-2} - \int \frac{5}{(x-2)^2}$$

$$= 10 \ln|x-3| - 9 \ln|x-2| - \frac{5}{x-2} + C$$

$$4. \frac{x^3 + 3x^2 + 2x + 1}{x-1} dx$$

Solution

$$\begin{array}{r}
 x^2 + 2x + 3 \\
 x-1 \overline{) x^3 + 3x^2 + 2x + 1} \\
 \underline{x^3 - x^2} \\
 2x^2 + 2x \\
 \underline{2x^2 - 2x} \\
 3x + 1 \\
 \underline{3x - 3} \\
 4
 \end{array}$$

$$\begin{aligned}
 \Rightarrow \int \frac{x^3 + 3x^2 + 2x + 1}{x-1} dx &= \int x^2 dx + \int 2x dx + \int 3 dx + \int \frac{4}{x-1} dx \\
 &= \frac{x^3}{3} + x^2 + 3x + 4 \ln|x-1| + C
 \end{aligned}$$